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Note: Since we are working with equality, the idea is not to work with fractions as much as possible.
Additionally we need to check our solutions in the original expression to ensure that solutions exist. This
criteria is shown in examples 2, 3, 4, 5, and 6 on your text.
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Note: The examples 8 to the end, we need to check our answer because the original expression contains a
variable in the denominator.
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The solution of t =2 does not satisfy the original statement.
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The solution of x =2 does not satisfy the original statement. Therefore, this equation has no solution.
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